= o
HOZE ol & Ab 2 M A
2M nsSHF
M DsHE A
@4 Xsd UsHA 25 (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
wEHFH M 42,151,332 39,300,471 2,850,861
= 626,211
J| 240,000
< 1,683,900
Al 39,601,221
sy o 2,352,568 2,323,132 29,436
= 157,457
J| 240,000
< 114,730
Al 1,840,381
Asdg nEdAH = 429,041 727,811 AN 298,770
Asd DsSHAH FSAMY = 429,041 727,811 A 298,770
201 2et24d] 299,041 297,811 1,230
01 At 22l 12,834 11,604 1,230
O gatit Ww=H 160
O ROBHIAIAE SAH| 200,000&  12& 2,400
O &ojetdzte] d+=+3 527,000 128 6,324
O 293 a8 350
O sZI(HeleIZE) |22
150,000& * 12& 1,800
O SZI(HOMCZE) HINHA =22 100
O A 8 d2EH 900
O 4ag8 &3 JIs&EE 800
02 8323l 286,207 286,207 0
O NSHEBHH HLALAE SAES
1,400,000,000& = 0.1 140,000
O NsS3BHH JEANLAE RAE=
1,000,000,000& = 0.05 50,000
O NsSIFEBHH NI ESUUHY MEZ
400,000& = 12& 4,800
O tidd= Bt AHER3  950,000& * 128 11,400
O &dot=& 23 100,000& » 12&8 1,200
O HagdEI SR el 50,000& = 12& 600
O &I, &Y, SAAE sl2el
100,000& * 12& 1,200
O nsse=REa
3503 *1,693m *0,82+1/2x13| 243
O gaa |2l 1,000
O HdIR3 75,764
oJles 8,320 = 280kW x 123 27,956
o ABZ 155%@ » 22,000kW * 123 40,920
o S IIXIA 68,879,000& * 10% 6,888
401 Al B2 28I 130,000 430,000 A 300,000
01 A& HI 130,000 430,000 A 300,000
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
MAHAEZY EX 274,917 0 274,917
= 137,457
& 68,730
Al 68,730
402 BI2H X 20| M 274,917 0 274,917
= 137,457
= 68,730
Al 68,730
02 CIZEXIE A EX (0| XM THL) 274,917 0 274,917
ONAHA T8 X 91,639,000& * 3CH 274 917
= 137,457
=} 68,730
Al 68,730
MAHA 29 A& 120,000 100,000 20,000
& 36,000
Al 84,000
307 QI2t0| ™ 120,000 100,000 20,000
& 36,000
Al 84,000
09 2LHHEXZ 120,000 100,000 20,000
O MaHA 294 5,000,000& = 24CH 120,000
= 36,000
Al 84,000
EHNESLC TUAB X (U2 EA 2E) 40,000 0 40,000
= 20,000
o 10,000
Al 10,000
405 XHA&HF S HI 40,000 0 40,000
= 20,000
o= 10,000
Al 10,000
01 AL 2 ZF S| 40,000 0 40,000
O SEHNELH(ZMUAZEAl) &
40,000,000& * 1CH 40,000
= 20,000
= 10,000
Al 10,000
MRS Hel 2 A &8 823,733 708,572 115, 161
SOoltkE A|AEH 2 692,820 595,448 97,372
201 et 170,820 125,448 45,372
01 AP 2t 2] H| 22,260 20,280 1,980
O Roc=EIHet 2EYSXNAM AA oY
50,000 = 58tA « 128 3,000
O RocE3Het @5 MEelE D XA
50,000 = 58tA « 128 3,000
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O Rolcsdae=TE T2l (2H) EHFY
130,000 *3 =2CH 12 9,360
O FHXUCE Y AN A 40 H A
50,000& * 5000 & 2,500
O CCTV A &A 2A(UESHZHE W)
200,000& ~ 12€ 2,400
O Solghs oCTV SEENT &7
200,0008 * 100 & 2,000
02 2224 H| 148,560 105, 168 43,392
O otk oCTV 29 I3
2,500,000& = 12&€ 30,000
O RolcEIHer 2SN L DAMASES
LER= 93,240
o MUSTH L UYL DXM
390 25021 23| 252 x 12 & 58,500
o BEI=Z 1,930 = 1,500 = 12&€ 34,740
O YA 22X LEHAHA &9
1,000,000 * 12& 12,000
O SYF=AX JtaAHE SXges
20 * 3,000 = 12&€ 720
O 2Y =3I ©EccTVvEZAE &
350,000 * 3600 A 12,600
401 A& HIZ £ 0HY| 522,000 470,000 52,000
01 Al&H| 522,000 470,000 52,000
O 2ocxE CCTV asIiA
25,000,000 = 4CH 100,000
O X&E0ols4A CCTV dsA
2,000,000& = 1CH 2,000
O CCTVAIZ2 &H| X2 40,000
O foex(CIls) Jtoier &
70,000,000 * 4CH 280,000
O 289 F=3X 2o CCTVAE X 50,000
o Hat242 At)jel(a=gd o12) 50,000
O MEstHIMAAY 50,000
0 BEESHD ¥ SHUREX Q0o
It 2k CCTVA X 50,000,000& * 102 50,000
Olsa S 29 40,448 34,084 6,364
201 Bt 4d9H]| 39,028 33,364 5,664
01 AP 22| H| 25,368 22,704 2,664
O 0ls4 Y FEX} HYZAAE SIES
200,000& = 20H ~ 12& 4,800
O SYFAEX SHSHAEH L HEDXNM 124
B0 5000 x20L 20 12 1,440
O SYFEX @501 AM
55,000& 28t A xR x12& 2,640
O 2YUHFEI} SHEDNIAN s Ty 5,040
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o DEWY
el RS Hel 2 2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o ot= 70,0002 = 10H 700
o S=(8H) 70,000& = 109H 700
o 81t 20,000&  144¥ 280
O =3i & A9 FX& FHl 35,000
o = XHAH 200,000 * 15JH A& 3,000
o AQlPAFX & 200,000& » 1000 & 2,000
o FEX STANE & =2 CHEA
50,000& * 691 * 1007H & 30,000
SoYXY Hol ¥ NE 6,885 6,885 0
201 Let2d] 4,845 4,845 0
01 At 22l 3,845 3,845 0
O RHEIXE Az
40,000& = 700 123 3,360
O H2AX ZAME Rt A2F F8 485
0o =88 12,0002 * 304 360
o N2 DI 25,0002 * 54 125
02 =224l 1,000 1,000 0
O LI SEE YS(HHEESY) 1,000
202 O4dl 2,040 2,040 0
01 = LH o4 1l 2,040 2,040 0
O LI dRFI(FEEH)
30,0003 = 2% = 243 1,440
O LR slah el=5 e RFH
30,000& = 2% = 10 600
=wns 4 XN 34,984,088 32,927,392 2,056,696
= 468,754
= 1,457,470
Al 33,057,864
suWsSAE e 925,546 855,067 70,479
= 36,277
Al 889,269
sZE X € RANES 513,900 353,900 160,000
203 YR =&l 1,000 1,000 0
03 AIHF=XH R =AH| 1,000 1,000 0
O nsdFU AI#Z=A 1,000
401 Al HI L 2 THHI 512,900 352,900 160,000
01 A& HI 512,400 352,400 160,000
O RHsZd RXNE= 500,000& * 1009 A 50,000
O RHs2d 41X € |sXNE=
600,000& » 240 A& 14,400
O RHsZd H4LEA 20,0003 * 5000H 2 10,000
O |MHsZE SEI| Htg240l £X
2,000,000 * 1090 & 20,000

_36_




2A NS
A Hsus g4 XA
e HERSAE Hd (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O HAsZE LRI EXNAE
2,500,000& * 2004 & 50,000
O A SHSLE DH(ERE)
10,000,000& * 309H £ 300,000
O MEsF|LAY 68,000
0 RHSAN HX(SUM LY 2HE)x
10,000,000& * 690 2 60,000
0 FMNESLE X (RES)
8,000,000& * 1JH 2 8,000
03 A& =2 THHI 500 500 0
O RiisZdd 2 A=A 500
ANUEHA =2 33 11,010 9,618 1,392
101 @124l 9,037 8,586 451
04 JIZHHZ2XNHESE S+ 9,037 8,586 451
O ANUHASZE S#ZHUIARU(HE, =4 5)
68,8003 «6H x 102! 23] 8,256
O 40 B3 U&7 781
201 Let24E] 1,253 312 941
02 =224l 1,253 312 941
O &R (22s HEX=)
1,220 44 =201 *30 293
O gHolg &sd M3 80,0008 * 124 960
206 T 28 720 720 0
01 MHZ 4l 720 720 0
O AMUHA =23 3338 M7
20,000& = 6& = 6K 720
SUF AL HEAL(2E) 120,927 110,277 10,650
< 36,277
Al 84,650
401 Al HIZ 201 8] 120,927 110,277 10,650
< 36,277
Al 84,650
01 A& HI 120,927 110,277 10,650
O MattA s28 AEHAEAS 88,887
< 26,665
Al 62,222
O HASZZE B AMA RS AL 32,040
< 9,612
Al 22,428
ZABISKI &AL 279,445 200,000 79,445
201 Lt 3,000 0 3,000
02 =224l 3,000 0 3,000
O ZHFE XL NMHIA 29
300,000& = 100H& 3,000
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2N nEHAHY
HHM: ENE 84 N
S WEREAA o

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
308 XHXIEHSO|A 154,445 100,000 54,445
10 212 SUHUSHEAEAE AT Y| 154,445 100,000 54,445
O HAZEEAAE (BIS) 29 154,445
401 AlEHIZL 2 0HY| 22,000 0 22,000
01 Al& H| 22,000 0 22,000
O Z2¢EE SN2 E AlAE 2H 22,000
403 XX S M S K201 & 100,000 100,000 0
02 Z2I)|2So eI E2& 2 E A HI 100,000 100,000 0
O HAZBAIAH(BIS) 2= 100,000
EBHAISHAEE2ALAIAE 2 2 2 264 61,272 A 61,008
201 Bt 264 0 264
02 2224 4| 264 0 264
O BHASHZAZIZEEZA AL OHUY AlZ22
22,000 = 12&€ 264
2x9H 29 & 34,058,542 32,072,325 1,986,217
= 468,754
o= 1,421,193
Al 32,168,595
IMNASISE AAHA EFA &AL A 30,000 20,000 10,000
307 212t0| & 30,000 20,000 10,000
02 QI AAIE E X 30,000 20,000 10,000
O UAAESESZ AABHA BFA &AL A 30,000
249} RIEEXZ X3 18,300,000 18,300,000 0
307 2Iz2t0| & 18,300,000 18,300,000 0
09 2LHAHEXZ2 18,300,000 18,300,000 0
O KIIoiM2H 2LSHEXS 18,300,000
AU, sHEHA BEIEN 2AEAZ 1,420,000 1,420,000 0
307 giztol A 1,420,000 1,420,000 0
09 2LHHEXZ 1,420,000 1,420,000 0
O AMUHA EXed a8 aZ 1,420,000
AU, sHEHA WEXR 10,121,038 8,471,179 1,649,859
= 1,266,038
Al 8,855,000
207 I & d| 355,000 55,000 300,000
01 d32E<H| 355,000 55,000 300,000
O AMUHA THEAXIE Y DEHFTA E29H| 55,000
O UAAl HASEHAH HE A=A 300,000
307 QI2t0| ™ 9,766,038 8,415,549 1,350,489
& 1,266,038
Al 8,500,000
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Sl 249 2Y X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 2HAHAEXS 9,766,038 8,415,549 1,350,489
O AlUHA THEX& 2 9,766,038
= 1,266,038
Al 8,500,000
ANUHHA R8s &4 B 2,220,000 1,920,000 300,000
307 glz2+ol & 2,220,000 1,920,000 300,000
09 2+=HAHEEXS 2,220,000 1,920,000 300,000
O AMUHA 2as A0 OHE 2428 2,220,000
22 SALR X 5,600 1,500 4,100
201 Let24d] 4,000 1,500 2,500
01 At 22l 2,000 0 2,000
O MIAG(BHSM) BN 244N 22
1,000,000 = 23l 2,000
03 A2 S HI 2,000 1,500 500
O HRAE(ZOSM)MEBY 2227
=gl 500,000& = 43| 2,000
301 et A3z 1,600 0 1,600
09 &AL HIZ &S 1,600 0 1,600
O HRAE(ZOSM)MEZE oY 20|
BEsEa3 8,000& = 509 = 4 1,600
S+ SAL J&X As X 30,375 30,375 0
202 044l 375 375 0
01 SLHOIYI 375 375 0
O MERYUSAEN HTX ASALEX
375,000&  1¥ 375
307 21201 A 30,000 30,000 0
02 QIZtE M AHEE 30,000 30,000 0
O HEDHSHL MEK HsH(HA, Al
375,000& * 80¢H 30,000
AMUHHA S2839 25X HME 2 AX X 117,000 117,000 0
307 glz2tol & 37,000 37,000 0
02 It MAMHEE 37,000 37,000 0
O AlUHA s2d 25 AI2E § MH 20,000
O AMUHA LED S48 SH RA22 17,000
402 RI2FX=01 M 80,000 80,000 0
01 2I2E 2 A B (KM ) 80,000 80,000 0
O AMUH A LED oy 828 £X
4,000,000& = 20CH 80,000
EOIEAl ZXE4 38,714 0 38,714
= 10,000
Al 28,714
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BN DEHH
Mz HznE 4 I
Sl 249 2Y X CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
207 S0 & 38,714 0 38,714
= 10,000
Al 28,714
01 | 38,714 0 38,714
O H4AXt HAIEY ZASY 38,714
= 10,000
Al 28,714
EHAIEIE Al 65,191 65, 191 0
307 gizto| A 65,191 65, 191 0
09 2LHHEXZ 65,191 65, 191 0
O XNsASEANAY 2T (HAS2) 39,487
O XNsSAASESAAEH 22X (BA2) 25,704
BAIEH 29 XN& 355,716 547,080 A 191,364
&< 106,715
Al 249,001
307 2iz2to| A 355,716 547,080 A 191,364
& 106,715
Al 249,001
09 2LHAHEXZ2 355,716 547,080 A 191,364
O BAIR2 IIESLY)| sdlg X 95,436
o= 28,631
Al 66,805
O 83ARZ2 ItEx=E XNE 260,280
& 78,084
Al 182,196
AIEZEA 22Y 30,000 30,000 0
201 Bt 30,000 30,000 0
01 AP 22| H| 30,000 30,000 0
O GREHA &2 30,000
AMUBHA 83X JE72Y 31,200 31,200 0
307 2iz2to| A 31,200 31,200 0
02 QIZIA AAIE E X 31,200 31,200 0
O AlUHA 231 M2
80,0008 = 390¥H 31,200
AMUHA =X DHAH 360,000 400,000 A 40,000
402 QI2H X201 M 360,000 400,000 A 40,000
01 SIZEXIEANSEXZ (MMM E) 360,000 400,000 A 40,000
O AMUBHA S5 XE A
20,000,000 * 18CH 360,000
ANZO0IEHDEX A=A AFS 215,200 163,200 52,000
= 107,600
& 43,040
Al 64,560
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A REWEDY
Mz HznE 4 I
oo 24H 2Y X8 EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 215,200 163,200 52,000
2 107,600
= 43,040
Al 64,560
09 2LHAHEXZ2 215,200 163,200 52,000
O XNZ2O0/&HIDIEX HEXE ALY 215,200
= 107,600
= 43,040
Al 64,560
SZ2YHEYA 29 100,000 100,000 0
= 50,000
Al 50,000
307 giztol A 100,000 100,000 0
2 50,000
Al 50,000
09 2LHHEXS 100,000 100,000 0
O Z2Z2gEA 290 OE =424 100,000
= 50,000
Al 50,000
HEZHA 29 600,000 0 600,000
= 300,000
Al 300,000
307 212t0| & 375,000 0 375,000
= 187,500
Al 187,500
09 2L AHEXZ2 375,000 0 375,000
O dH=EsHAs 288X 125,000,000& * 3CH 375,000
2 187,500
Al 187,500
402 SI2vXHE0| & 225,000 0 225,000
2 112,500
Al 112,500
02 BIZtXIEANYEX(0OIETH) 225,000 0 225,000
O #dssHA T8 75,000,000& * 3CH 225,000
= 112,500
Al 112,500
CAUNSIEHOE = HAaH I 16,200 0 16,200
= 5,400
Al 10,800
402 SI2HXHE0| ™ 16,200 0 16,200
= 5,400
Al 10,800
02 QX E A E X (0| XM THS) 16,200 0 16,200
O HEXNSXEDYE SEEH248H X 16,200
0 YAAIIHAZEEDOIYE 10,800
o=} 3,600




2A NS
A Hsus g4 XA
Sl 249 2Y X CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 7,200
o AMINEHAHOE X 5,400
< 1,800
Al 3,600
HEotaHDIE 2,308 0 2,308
= 1,154
Al 1,154
405 TtatF S| 2,308 0 2,308
= 1,154
Al 1,154
01 et EFFHSHI 2,308 0 2,308
O =9 Jtolat EXEH| 2,308
= 1,154
Al 1,154
wns ot =2 & WO A4 B 4,781,974 4,017,245 764,729
< 111,700
Al 4,670,274
WEUHHAILEE 2tel 4,781,974 4,017,245 764,729
< 111,700
Al 4,670,274
Helol Es3Y e 150,000 61,000 89,000
401 AIEBIZ 201 8] 150,000 61,000 89,000
01 A& HI 150,000 61,000 89,000
O Helol 25379 sXzel
25,000,000 * 6IH A 150,000
DM EIH X & 2e 499,500 415,100 84,400
305 a2 S 2,000 1,000 1,000
01 tHa=S 2,000 1,000 1,000
O HH&ZH RIS (LEATALEE)
500,000& * 43 2,000
401 Al Bl 28I 497,500 384,100 113,400
01 A& HI 496,500 383,100 113,400
O usetdEXE 84X ¥ 22 400,000
O WSEAE &X & 22l
500,000& » 12000 & 60,000
O MESHIMEAY 36,500
0 WEPAIE AXI(MES 2 39MHA)x
500,000& * 390 & 19,500
0o WEBAIE EX(BEs 2 34MA)
500,000& 340 A& 17,000
03 Al S THHI 1,000 1,000 0
O NSAHAEXE 2 AL F=& 20| 1,000
WnsdsI X ¢ RANE=> 1,948,249 1,343,480 604,769
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SN REHI D
M NS ot &Y U mHo A4 M3
el NESHEAEE 2tel (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
201 Le-2d| 249,249 244,480 4,769
02 3322l 249,249 244,480 4,769
O nsdsI &8IIe3 201,030
o Z¥s 37.502 x400KW *4600H A « 122 82,800
0o BYS 118,230
l2g 6,290& * 3000  12& 22,644
MNEZ 85.90& *300H 2 #250kW = 123 77,310
S ILIEXI A 182,754,000& = 10/100 18,276
O WSz A 48,219
o dsS 77,0003 * 4070H & 31,339
0¥, FYS, HUBT XS
40,000 » 42204 & 16,880
5 i3S 1,000 1,000 0
01 Hi&a=E 1,000 1,000 0
O Hha3H UIIRE= 500,000& * 23| 1,000
401 IS HI L 2T 1,698,000 1,098,000 600,000
01 A& HI 1,697,000 1,097,000 600,000
O usdz) e & 54
0,000,000& * 400 2 240,000
O 3L, 2&sS EXEAM 112,000
o 2ES 20,000,000& * 5 & 100,000
o B&3S 1,200,000 * 100H £ 12,000
O == 43I ¥ M2 WX 160,000
oLBHE U ME, MM S
40,000,000& = 30H 2 120,000
o MA2I 10,000,000& * 4JH A 40,000
O nsSAII| KX el SopAH 650,000
odlss, ZES, &S, MAHII 650,000
O &gt2: 2895 4X 2 WA
2,000,000& * 1564 312,000
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O &8HEE TUHAIZE EAIDI
1,100,000& * 1004 110,000
O MESHINEALY 13,000
0 EHEE XHS SR (Bas)*
13,000,000& * 14 13,000
03 Al 2 0HHI 1,000 1,000 0
O NsSASI| 2&AAY =& 20l 1,000
DEYNE LX) L HLT M 1,147,000 1,376,500 229,500
< 4,200
Al 1,142,800
401 Al Bl 2B 1,147,000 1,376,500 A 229,500
= 4,200
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SN RSP
M s N &2 Y HO Al M3
Cel: DEAEALES 22 (cHel ® Q)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 232,000 20,000 212,000
01 A& HI 232,000 20,000 212,000
O FXE == 4H ZAEH
200,000,000& * 14 200,000
O 2g=x& |X 22l 5,000,000& * 404 20,000
O MM ALY 12,000
0 BEFIUE EI(QAH)x
12,000,000 * 1JH 2 12,000
Helol Sotn WsSotd X% 23,000 28,000 25,000
307 21201 A 23,000 28,000 A5,000
02 IS AT EL 20,000 25,000 A5,000
O oelolsstn el & nsSWHeX2 20,000
04 QIZFHALAIH E = 3,000 3,000 0
O Art=Ao0L Hes 3ot GEU 3,000
SAME LRI 842D RAES 20,000 20,000 0
401 AIEHI L 20 20,000 20,000 0
01 A& HI 20,000 20,000 0
O &2 HHMEM(EYO0IE) (L=35m,B=6m) 20,000
WSAE ZHAE 250,000 160,000 90,000
< 100,000
Al 150,000
401 AIEHI L 20HEI 250,000 160,000 90,000
< 100,000
Al 150,000
01 A& Hl 250,000 160,000 90,000
O M43 0|HE=2 HHIAY 125,000
< 50,000
Al 75,000
O WSeHHEAIE HUlAY 125,000
< 50,000
Al 75,000
NEAMSI X ¥ 22 (EX) 25,000 0 25,000
< 7,500
Al 17,500
401 AIEHI L 20 25,000 0 25,000
< 7,500
Al 17,500
01 A& Bl 25,000 0 25,000
O gt=2r OS2I XA 25,000
< 7,500
Al 17,500
HE2IAH (S A D) 32,702 32,702 0
Jl= &l 32,702 32,702 0
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